

Patrick Pen-Ogbolu

Test 7

$$1) \int \frac{\sqrt{x^2-4}}{x^6} dx \quad x = 2\sec\theta$$
$$dx = 2\sec\theta \tan\theta d\theta$$

$$= \int \frac{2\tan^2\theta (2\sec\theta \tan\theta)}{64\sec^6\theta} d\theta$$

$$= \int \frac{\tan^3\theta}{16\sec^5\theta} d\theta$$

$$u = x^2 - 4$$

$$du = 2x dx$$

$$= \frac{1}{16} \int \frac{\tan^2\theta \tan\theta}{\sec^2\theta \sec^2\theta \sec\theta} d\theta$$



**NEW YORK CITY
COLLEGE OF
TECHNOLOGY**

CITY UNIVERSITY OF NEW YORK
300 JAY ST. BROOKLYN, NY 11201



EMPLID:23770228

LIB:22477 23770228 1

ISSUED:8/20/2018

Pen-Ogbolu, Patrick

STUDENT

$$2) \int \frac{\ln x}{x^6} dx = \int \ln x (x^{-6}) dx$$

$$u = \ln x \quad du = x^{-1} dx$$
$$dv = x^{-6} dx \quad v = -\frac{x^{-5}}{5} dx$$

$$uv - \int v du$$

$$\ln x \left(-\frac{x^5}{5}\right) - \int -\frac{x^5}{5} x^{-1} dx$$

~~u=x~~ ~~v~~

$$\ln x \left(-\frac{x^5}{5}\right) + \frac{1}{5} \int \frac{1}{x^5} x^{-1} dx$$

$$\ln x \left(-\frac{x^5}{5}\right) + \frac{1}{5} \int x^{-6} dx$$

$$\ln x \left(-\frac{x^5}{5}\right) + \frac{1}{5} \left(-\frac{x^5}{5}\right) + C$$

$$-\frac{x^5 \ln x}{5} + \left(-\frac{x^5}{25}\right) + C$$

$$-\frac{x^5 \ln x}{5} - \frac{x^5}{5} + C$$

$$3) \int_{-\infty}^{-1} e^{8t} dt = \lim_{a \rightarrow -\infty} \int_a^{-1} e^{8t} dt$$

$$= \lim_{a \rightarrow -\infty} \left[e^{8t} \right]_a^{-1}$$

$$= \lim_{a \rightarrow -\infty} \left[e^{8(-1)} - e^{8(a)} \right]$$

$$4) f(x) = \frac{6}{x^3} - \frac{7}{x^7}$$

$$F(x) = f'(x)$$

$$F(1) = 0$$

$$f'(x) = \left(\frac{0(x^3) - 6(3x^2)}{(x^3)^2} \right) - \left(\frac{0(7x^6) - (7)(x^7)}{(x^7)^2} \right)$$

$$= \frac{18x^2}{x^6} - \frac{7x^7}{x^{14}}$$

$$f'(x) = \frac{18}{x^4} - \frac{7}{x^7}$$

$$0 = \frac{18}{1^4} - \frac{7}{1^7} = 11$$

$$0 = \left(\frac{0(1^3) - 6(3(1)^2)}{(1^3)^2} \right) - \left(\frac{0(7(1)^6) - 7(1^7)}{(1^7)^2} \right)$$

$$0 = \left(\frac{0-18}{1} \right) - \left(\frac{0-7}{1} \right)$$

$$= -18 + 7 =$$

$$5) g(r) = \int_0^r \sqrt{x^2+1} dx$$

$$= \int_0^r (x^2+1)^{1/2} dx = \left[\frac{(x^2+1)^{1/2+1}}{1/2+1} \right]_0^r$$

$$= \left[\frac{(x^2+1)^{3/2}}{3/2} \right]_0^r = \left[\frac{2(x^2+1)^{3/2}}{3} \right]_0^r$$

$$= \frac{2(r^2+1)^{3/2}}{3} - \frac{2(0^2+1)^{3/2}}{3}$$

$$= \frac{2(r^2+1)^{3/2}}{3} - \frac{\sqrt{8}}{3}$$

$$g(r) = \frac{\sqrt{(2r^2+2)^3}}{3} - \frac{\sqrt{8}}{3}$$

$$g'(r) = \frac{27\sqrt{6r^2+6}}{2} - \frac{9}{2\sqrt{8}}$$

$$\frac{3}{2} (2r^2+2)^{1/2}$$

$$\frac{\sqrt{6r^2+6} (3)}{2}$$

$$\frac{3\sqrt{6r^2+6}}{2} \cdot \frac{9}{1}$$

$$\frac{27\sqrt{6r^2+6}}{2}$$

$$\frac{\frac{1}{2}(9)^{(-1/2)}}{9}$$

$$\frac{1}{2} \cdot$$

$$\frac{1}{\sqrt{8}}$$

$$\frac{1}{2\sqrt{8}}$$

$$\cdot \frac{9}{1}$$

$$= \frac{9}{2\sqrt{8}}$$

$$7) \int \frac{\ln^5(z)}{z} dz = \int \frac{\ln^5(z)}{z} dz$$

$$u = \ln(z) \quad du = \frac{1}{z} dz$$
$$= \int u^5 du = \frac{u^6}{6} + C$$

$$= \boxed{\frac{\ln^6(z)}{6} + C}$$

~~$$\int \frac{4x^2 - 18x + 27}{x(x-3)^2} dx = \int \frac{A}{x} dx + \int \frac{B}{x-3} dx + \int \frac{C}{(x-3)^2} dx$$~~

$$\frac{4x^2 - 18x + 27}{x(x-3)^2} = \frac{A}{x} + \frac{B}{x-3} + \frac{C}{(x-3)^2}$$

$$4x^2 - 18x + 27 = A(x-3)^2 + B(x)(x-3) + C(x)$$

$$x=0, 4(0)^2 - 18(0) + 27 = A(0-3)^2 + B(0)(0-3) + C(0)$$

$$27 = A(-3)^2 + B(0)(-3) + C(0)$$

$$27 = A(9)$$

$$3 = A$$

$$x=3, 4(3)^2 - 18(3) + 27 = A(3-3)^2 + B(3)(3-3) + C(3)$$

$$9 = C(3)$$

$$3 = C$$

$$x=2, 4(2)^2 - 18(2) + 27 = 3(2-3)^2 + B(2)(2-3) + 3(2)$$

$$9 = 3 + B(-2) + 6$$

$$9 = 9 + B(-2)$$

$$-2 = B(-2)$$

$$1 = B$$

$$\int \frac{3}{x} dx + \int \frac{1}{x-3} dx + \int \frac{3}{(x-3)^2} dx$$

$$3 \frac{(x-3)^{-2+1}}{-2+1} = \frac{3(x-3)^{-1}}{-1} = -\frac{3}{(x-3)}$$

~~$$= 3 \ln|x| + \ln|x-3| - \frac{3}{x-3} + C$$~~

$$= 3 \ln|x| + \ln|x-3| - \frac{3}{x-3} + C$$